Reminders 02-25-10:

-POW 5 Due Tuesday March 2 by 5PM.

-Quiz 5 Today Ch.5 and 6 in Lecture.

-Exam 2 March 2 Ch 5,6, and 14.

-Video lectures http://ocw.mit.edu/OcwWeb/
Physics/8-01Physics-IFall1999/CoursesHome/
index.htm

Objectives:
=Fluids Worksheet
-Work

-Work-Kinetic Energy Theorem



A cube of ice whose edges measure 20.0 mm is floating in 2 glass of ice-cold water with one of its faces parallel to the
water's surface.

{a) How far below the water surface is the bottom face of the block?
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(b} Ice-cold ethyl alcohol is gently poured onto the water's surface to form a layer <4.50 mm thick above the water.
The alcohol does not mix with the water. When the ice cube again attains hydrostatic equilibrium, what will be the
distance from the too of the water to the bottom face of the block?
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Example:

—

N\ N\ A
Aforce F =1 i—-4 j+2k
results in a displacement

S=3i+2 j+2 k

the work done by F through S is:




Example:

A 10 kg mass is pulled by a 100 N force at an angle of
30°. The force is applied through a displacement of
3 m and the coefficient of kinetic friction is 0.2.

What is the work done by the applied force?

By friction? What is the net work done on the block?

F,

N, = () (3m) cos 30

= =(2)(43N)> = - 297

Wiz W = b0y + “ATT =231F
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